Balr-6511A

Mos.| HaumeHoBaHue ApTukyn
[Asuratens 6eH3nHoBbIA 190F Cxema
1 e B3r6500A.01
Jdeuzamenu
2 |Haknaaka aHTUBMGPaLMOHHas BAr6500A.02
3 [raika c cnaHuem M6 B3r6500A.03
4 |®naney n V03387
5 |BonT ¢ hnaHuem M8x20 BAr6500A.05
6 |BuHT M6x16 B3r6500A.06
7 |Waiba npyxuHHas 6 B3re6500A.07
8 [Waiiba 6 B3r6500A.08
9 |KpbineyaTka reHepatopa (nog 4 BuHTa) Y03388
10 |[Akopb B3r6500A.10
11_|Cratop BE3I6500A.11
12 |BonT c dpnaHuem M10x1,25x230 B3r6500A.12
13 |3awura ctatopa B3r6500A.13
14 |PnaHeu sagHuit 02020
15 |Bont ¢ chnaHuem M8x105 B3re500A.15
16_|Kpbllwka chnaHua 3agHero Y03390
17 |Bont ¢ onaHuem M6x10 B3r6500A.17
18 MywmnTens ¢ 3aLLmMTON (2 TOYKM KpenneHus) (B V02368
cxeme asuratens 190F)
19 |Bont ¢ cbnaHuem M6x16 BOr6500A.19
20 |Wckporacutens B3r6500A.20
21 |8awwura mywwurens (B cxeme apuratens 190F) Y03397
22 |Bont ¢ chnaHuem M6x8 BOr6500A.22
23 |Mpoknaaka aHTUBMGpaLMOHHAs B3res500A.23
YkaaaTernb ypOBHS! TONMNBA AN, WTaHN
2 55,75,110,120,128,140mMm /01493
25 |Kpellka TonnueHoro 6aka B3r6500A.25
26 |Mpoknaaka KpbiLKu BOr6500A.26
25406 Kpbiwka Tonn.6aka 6onblan P98 (57-68-91) Y01650
Kpbiwka TonnueHoro 6aka manas @85 (57-68-80) |¥02004
57 |®VNLTP 3aNMBHOI FOPNOBMHEI TONMVMBHOTO 6aKa |\170
|— 1950
28 |Bak TonnnBHbI B3r6500A.28
29 |BonT ¢ chnaHuem M6x25 B3r6500A.29
30 |Waiiba 6 B3r6500A.30
31 [Brynka peauHoBas B3r6500A.31
32 _|KpaH TONAMBHBIN CO WITYLEEpOM Y03081
33_|XomyT Tonnueonposoga @8-10 V01491
Tonnusonposoa 4x8x90,135,
3 150,180,195,210,310Mm 03332
35 [PunbTp TONNMBHDIN Y¥02014
36[Pama B3r6500A.36
37 Onopa pesuHosas (wmpvHa 55) Y03329
Onopa peauHosas (wmpuHa 35) Y03322
38 |lanka ¢ onaHuem M8 B3r6500A.38
39 [laitka ¢ onaHuem M10x1,25 B3r6500A.39
40 |Bont ¢ cbnaHuem M8x16 B3re500A.40
41 |Onopa TonnueHoro Gaka nesas B3r6500A.41
42 |MNaHenb BapoyHas B3r6500A.42
43 |BonT ¢ onaHuem M6x12 B3r6500A.43
44 |MnaHka NpuxUMHas B3re6500A.44
45 |MecTo ycTaHOBOYHOE aKKyMynsitopa BOre6500A.45
46 |BonT ¢ conaHuem M8x35 B3r6500A.46
47 |Hoxka pesuHoBas B3re6500A.47
48 |Kopnyc naHenu (nMnacTukoBblit) BOre6500A.48
49 MNatensb B3r-6500A B3r6500A.49
Maxenk ynpaenexust BAr-6511A BOres11A.49
50 |3amok saxuraHus Y03323
51 |AsTOoMart 3awmthbl 4A Y03839
52 Bonbktmetp 91L4 0-300B Y00729
BonbstmeTp MU-45 0-300B ¥02369
53 [Cyerunk MoTo4acos Y02676
Pogetka YG-001 12B Y01603
54 3axuM KneMMHBIN 12B (KpacHBIN+4EpHbIi) B3re511A.58
55_|Bbikntoyarens aBromatudeckuii 27A (Tun 30) Y¥03328
56 |Posetka 220B Y00728
57 MocT anoansin KBPC 3510 Y02316
MocT anoaHslit KBPC 2510 Y01622
58 |Bont 3asemnenus M6x20 B3r6500A.58
59 |AsTtomar 3awmtbl 10A V01364
60 _[KonpeHcatop 20 mk®x350B CBB61 (npsimoyr.) V03391
61 |Bont ¢ chnaHuem M6x20 B3r6500A.61
62 |XKryT npoBopoB BOre500A.62
6/n_|Mnata AVR 6,5kW. Y02314
6/n_|WHavkaTOp KpacHIit (OTcyTCTBUSA Macna) Y03325




